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2| B Rt 39| 36 75| 4.8 | 70.2 52| AL 1EH 45| 46 91| 16.8 | 74.2 102\ FnA L 51| 52| 103| 24.0 | 79.0
3R PEfK 36| 39 75| 4.8 | 70.2 53| FHN WAL 42| 36 78| 3.6 | 74.4 103|RiL =&+ 49| 47 96| 16.8 | 79.2
4| HIBE PENR 40| 40 80| 9.6 | 70.4 54| pKHE —K 43| 41 84| 9.6 | 74.4 104 |1 ¥ 54| 59| 113| 32.4 | 80.6
5/ HF 3 39| 40 79| 8.4 | 70.6 55| A A A 48| 42 90| 15.6 | 74.4 105| HFIH H=+ 56| 65| 121] 30.0 | 91.0
6|/AR TEH 37| 40 771 6.0 | 71.0 56| IRE Fiik 42| 42 84| 9.6 | T4.4
UES/NECSS 43| 39 82| 10.8 | 71.2 57| HlE —3k 46| 50 96| 21.6 | 74.4
8| FHM F 39| 42 81| 9.6 | 71.4 58| & 40| 43 83| 8.4 | 74.6
9 F[E] HEMHE 40| 41 81| 9.6 | 71.4 59|AiTH 153E 44| 45 89| 14.4 | 74.6
10114 8B 40| 40 80| 8.4 | 71.6 60| FHA HHE 42| 41 83| 8.4 | 74.6
1ymA x— 41| 39 80| 8.4 | 71.6 61|B9 MEE 41 42 83| 8.4 | 74.6
12| RiL &R 40| 40 80| 8.4 | 71.6 62| At R 44| 45 89| 14.4 | 74.6
13[4)1 =5 43| 43 86| 14.4 | 71.6 63| [l =ER 48| 46 94| 19.2 | 74.8
14|81 & 41| 44 85| 13.2 | 71.8 64| /bR PRFR 45| 42 87| 12.0 | 75.0
15(1hA HP 38| 40 78| 6.0 | 72.0 65| /Mg gl = 43| 44 87| 12.0 | 75.0
16| KP PRF 46| 44 90| 18.0 | 72.0 66|ILH E— 49| 44 93| 18.0 | 75.0
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23 |F#KIE B R 39| 41 80| 7.2 |72.8 IRIEI=SE 45| 39 84| 8.4 | 75.6
24|/ B 39| 41 80| 7.2 | 72.8 74| K TE— 44| 46 90| 14.4 | 75.6
25| Rt 21T 44| 42 86| 13.2 | 72.8 75|64 & 44| 39 83| 7.2 | 75.8
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34| FHE B 47| 42 89| 15.6 | 73.4 8410 A fifi 43| 47 90| 13.2 | 76.8
35| R 13 49| 45 94| 20.4 | 73.6 LY E S IR AN 46| 50 96| 19.2 | 76.8
36| H &1 47\ 47 94| 20.4 | 73.6 86| i & 50| 52| 102| 25.2 | 76.8
RYAP=3i0/N 40| 42 82| 8.4 | 73.6 87|/NE ok 53| 49| 102| 25.2 | 76.8
38|/Mbk S 44| 43 87| 13.2 | 73.8 88| EfF 49| 53| 102| 25.2 | 76.8
39/ bk Bagk 42| 39 81| 7.2 | 73.8 89|fCH AkA 46| 43 89| 12.0 | 77.0
40|71k BT 43| 44 87| 13.2 | 73.8 90| /bR HR L 46| 49 95| 18.0 | 77.0
41| T B 46| 41 87| 13.2 | 73.8 91 ¥ &% 42| 46 88| 10.8 | 77.2
e WSS 40| 41 81| 7.2 | 73.8 92|FmJIl Fn% 47| 47 94| 16.8 | 77.2
43| FES 39| 41 80| 6.0 | 74.0 93 |TEIR EH 44| 43 87| 9.6 | 77.4
44 | L8 B 41| 39 80| 6.0 | 74.0 94 | B HRR 44| 43 87| 9.6 | 77.4
45 \PEflE 1) 44| 36 80| 6.0 | 74.0 95|41 18 46| 45 91| 13.2 | 77.8
46|50 SETR 41| 39 80| 6.0 | 74.0 96| i #& 46| 50 96| 18.0 | 78.0
47| RA F6H 44| 48 92| 18.0 | 74.0 9T |\RA Eh 46| 55| 101] 22.8 | 78.2
48 |8y 48| 44 92| 18.0 | 74.0 98| Bk I B AN 49| 51 100| 21.6 | 78.4
49|30 HE 43| 42 85 10.8 | 74.2 99| K% 5 49| 50 99| 20.4 | 78.6
50 |8k —IE 45| 46 91| 16.8 | 74.2 100 /5K & 46| 46 92| 13.2 | 78.8
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